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Q1. If investment function becomes unresponsive to interest rate, then

g JddUh Tl STSIGRIc UAHIG ad ATg!, SRIMAWT —--m----

A. Fiscal policy becomes ineffective / ISIHINT  YRT
URUMHBRS B

B. Fiscal policy becomes effective / ISIH IS 4R GRUMGRS
od

C. Monetary policy becomes effective / Afgds URUT IRUMHGRS
3

D. Both fiscal and monetary policy are ineffective / IR YRT
g Aifass URU1 S(UNUMHSHRS 3T

Q2. Which is the short run Keynesian consumption function?

TTeAUD ! BV B-Id bl SUHRT o He?
—a+bY/C=a+bY

A.
B.
C.
D.

Q3. Keynes'’s speculative demand for money suggests that if everybody
expects price of bond to rise tomorrow, then speculative demand
for money curve will be ---------

&9 gied qd, Feamoiedl g dbaan U Aol o gfid &R @1
SR Y% ek IRl fhdd ST dled SRIT SHT=1T detl, R U=
RTINS G C 2N 2 RS R LY ] e - — 3.

A. Perfectly inelastic / QU Sr@idfa

B. Unit elastic / Thd cdi<idh

C. Perfectly elastic / EUTEH%

D. Vertical / féifaercia




Q4. Return to human capital is part of money demand function of --------
£ 1 IRE) oG 1 E PR R | | B R —— gie e ARToR
WA YT 3T,

A. Baumol / STHHA
B. Tobin / TIdi
C. Friedman / fthgd

D. Keynes | B

Q5. Which statement is true in reference to Phillips curve?
fOh T Tt dadid DIvrd AU ¥ 33d?
A. High unemployment rates are associated with low inflation
Rates / 3o SRIGHRIAT &R 8T g-aH HIddTe <dl GrEled 3.
B. High unemployment rates are associated with high inflation
rates / 3o SRISATRIET &R 81 3o HIddTe AT RIS 3.
C. High unemployment rates are associated with zero inflation

rates / 3o SRISHTRIET &R 8 Y HIddTe AT RIMIed 3R],
D. High unemployment rates are associated with high wage rates/

3= RIGTRIET &R 8T I dd-dTe AT SXEad 39!,

Q6. If there is a negative real interest rate, it means that inflation is

qd TSI BT SR R A 372 3T il Bl HIGATE Bl -
3R,

A. Less than the interest rate / TSl GRIUET HHT

B. More than the interest rate / TS GRTU&T 3

C. Equals to interest rate / Al ERTSRIER

D. Less than growth rate / q&ﬁ GRTUEH Bt

Q7. Which of the following statement is false?
GTeiaue! HIord faU S 3Mg?
A. India experienced the dual exchange rate system / HRAHE
go! fafma &R UGl gie.
B. Indian rupee was linked with Pound Sterling / YR ¥l g1
US>8 el Aiad foid gi.




C. India is the founding member of IMF / HRd &1 IMF T IRITUdh

T < 378,

D.India is using flexible exchange rate system since

independence / HRAM WIAAUNA ddfdd faf00 @R ggdi=n
fRIPR Pl 3R,

Q8. The large changes in exchange rate that occurs when policies are -

Qo.

———————— between the countries pose a measure threat to free trade.

faf g R disyT YA 9ed UG AT, ST eRieid eiRor
] e — SHTHes Tord ATYRTAT YIdhT 3R,

A. Fully synchronized / UII0 THShHd SRIT

B. Not fully synchronized / QUIq0} HHS Hd AdTd

C. Neutrally synchronized / dc¥&{ gHeh A 3T

D. Maybe fully synchronized /Wﬁlﬁg‘ﬁq@f JUH AT 3T

------ analysis of the long run Philips curve is based on the
adaptive expectation hypothesis.

el fbfors agprt - fI=ReIUT § SF%A SUel TR&BEaR
STYRTIS 3G

A. Philip’s / fthferemd

B. Marshall’s / ATRIc

C. Friedman / flhgdd

D. Fisher’s / fheRd

Q10. Which of the following are the major policy goals of monetary

policy?

WUt BT Hifad SR T & 3Rd?

A. Stabilize the level of aggregate output and alleviate the
business cycles / THUT g Ulda! fRR daul 3101 AR dsh
DHH! DHROT

B. Increase the disposable income / fafrarg Iaand are Hol

C. Increase the tax rate / ®X GId dlg H0l

D. Increase the demand of commaodities / d¥J=Ul ARl a1 HRul




